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Quiz 3
You must show all work to receive full credit!!

Problem 1. (5 pts) Solve the initial value problem r'(t) = (32, 4¢, 1) with r(1) = (0, 1, 2).
2 = j 7Rt = Jég*ﬁg, dE, 1> dt = < {3) 2{2, S+ @
P = 2320 1>+c= <1, &, 1>+ 2 = <0,1,a>

S 2=2/Z0,1,2>-<L21> = <=, -1,1>

Thas [20) = <t3-1, 241, £41>

Problem 2. (5 pts) Calculate the length of the curve r(¢) = (4sint,3sint, 5cost) over
the interval 0 <t < 7.

Ft)= {Ysint, 3sint,Scost > = 2l (e) 2 < Heost, Baust, - Ssint>

=2 I7'® = (L{wst) + (3595.1‘:) + (- 5>Wﬂ7) \J’(aws’tf- G ews?t + A5 sin 'f:

= m = A5 (sin?t teostt) = (as = 5.
'\(’}' T :
Thea L= H2'@®idt = (1 < e = w
J, me'e {7 st = st - [Be]




